Appendix D
The velocity comparison results (for vertically averaged velocities) are shown in the
following figures. The station locations are shown in Figure 2-2-3. Table D-1 below
provides descriptions for each of the scenarios having results shown in this appendix.

Table D-1. Descriptions of Scenarios

Scenario Description

Baseline (S00) | Current condition without project

Simulation of large-barrier configuration with all designed gates open (a total of 19

S01 gates)
Simulation of small-barrier configuration with all designed gates open (a total of 5
S02 gates)
Simulation of large-barrier configuration with approximately half the gates closed (a
S03 total of 9 gates are closed)
Simulation of small-barrier configuration with approximately half the gates closed (a
S04 total of 3 gates are closed)
Future Baseline
(S05) Future baseline condition without project with a sea-level rise of 1.0 m
Future condition simulation of large-barrier configuration with all designed gates open
S06 (a total of 19 gates) with a sea-level rise of 1.0 m
Future condition simulation of small-barrier configuration with all designed gates open
S07 (a total of 5 gates) with a sea-level rise of 1.0 m
S08 Future condition simulation of large-barrier configuration with approximately half the
gates closed (a total of 9 gates are closed) with a sea-level rise of 1.0 m
S09 large-barrier, gate open
S10 large-barrier, gate closed during storm, open after storm
S11 small-barrier, gate open
S12 small-barrier, gate closed during storm, open after storm
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Baseline versus S03:

D14



0.7 T T T T T T T T T T T T
0.6 Basel Scefario _|
—
‘-E 0.5
S’
0.4
>
-
o 03
=,
Q 0.2
>
0.1
0
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15M11 09/15/11 10/15/11 11/15/11 12/15/11
Date
Mean Df= -1.85%
0.2 T T T T T T T T T T T T
—_—
(7]
—
E
£
o
>
—
(%]
S
o 0.2
>
03 L 1 I 1 1 L 1 1 1 1 1 L
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15M11 10/15/11 11/15/11 12/15/11
Date
LFO2
0.2 T T T T T T T T T T T T

Scenario

Velocity (m/s)

e
=}
a

0
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df= -1.16%
T T T T T T T

e bt
o o
- =
T

e
o
~

-0.02

-0.04

-0.06 [~

Velocity Diff (m/s)

.0.08 1 1 | 1 1 L 1 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

D15



LFO3

-

Scenario
~— 0.8
2]
£
~ 0.6
>
-
© o4
A, -
[H]
> 0.2
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15M11 09/15/11 10/15/11 11/15/11 12/15/11
Date
Mean Df= -1.57%
03 T T T T T T T T T T T T
—_—
(7]
—
E
£
o
>
—
(%]
=)
[<F]
> -0.3
04 L 1 I 1 1 L 1 1 1 1 1 L
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15M11 10/15/11 11/15/11 12/15/11
Date
LFO4
0.2 T T T T T T T T T T T T

Scenfario

Velocity (m/s)

e
=}
a

0
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df= -1.86%
T T T T T T T

bt
o
&

e
o
X}

-0.02

-0.04

-0.06

-0.08

Velocity Diff (m/s)

01 1 1 | 1 1 L 1 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

D16



LFO5
0.1 T T T T T T T T T T T T

Scenario

g
=}
=
T
1

e

=)

=3
T

Velocity (m/s)

e
o
N

| | 1 ] 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df= 0.47%
0.04 T T T T T T T T T T T T

-0.02

Velocity Diff (m/s)

0.04 L 1 I 1 1 L 1 1 1 1 1 L
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15M11 10/15/11 11/15/11 12/15/11
Date
LE5-6
0.1 T T T T T T T T T T T T
Scenario
~—. 0.08
n
£
~ 0.06
>
by
O .04
R
[0
> 0.02
1 1 | 1 1 | 1 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15M11 09/15/11 10/15/11 11/15/11 12/15/11
Date
Mean Df= -3.67%
0.03 T T T T T T T T T T T T
w002
—
._E, 0.01
=
(m]
_éﬂ 0.01
Q
o -0.02
Q
> -0.03
0.04 L 1 I 1 1 L 1 1 1 1 1 L
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15M11 10/15/11 11/15/11 12/15/11
Date

D17



ELI2

e
1Y)

Velocity (m/s)

e
=]
o

1 1 | 1 1 ] 1 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df= -0.05%
T T T T T T T

s o o

o o (=]

n w -
|

e
o
=

-0.01

-0.02

Velocity Diff (m/s)

.0.03 1 1 | 1 1 L 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

=]
=2

Scenario

et
0

o
'S

Velocity (m/s)

e
o

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df= -1.96%
0.2 T T T T T T T T T T T T

—

(7]

£

S

£

o

>

—

Q

S

o 0.2

>

0.3 1 1 | 1 1 L 1 1 1 1 1 1L

01/15/11 02/15/11 0311511 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/1511 1115111 1211511

Date

D18



Velocity (m/s)

Velocity Diff (m/s)

0.08 T T T T T T T T T T T T

Scenario

bt
=]
o
T
1

e
o
&

e
o
N

0
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df= -0.93%
T T T T T T T

e bt
o o
X} @

e
o
=

-0.01

-0.02

-0.03

1 1 1

.0.04 1 1 | 1 1 L 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

D19



Baseline versus S04:

D20



0.7 T T T T T

0.6 i Scetfario

Velocity (m/s)

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15M11 09/15/11 10/15/11 11/15/11 12/15/11

Date

Mean Df=-26.11%
0.2 T T T T T T T T T T T T

Velocity Diff (m/s)

0.4 1 1 | 1 1 ] 1 1 1 1 1 1

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15M1 09/15/11 10/15/11 11/15/11 121511

Date

D21



LFO2
0.2 T T T T T T T T T

Scenario

®
-
o

T
1

Velocity (m/s)

0 I 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df=-13.63%
0.1 T T T T T T T T T T T T

-0.05

Velocity Diff (m/s)

04 L 1 I 1 1 L 1 1 1 1 1 L
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15M11 10/15/11 11/15/11 12/15/11
Date
LFO3
1 T T T T T T T T T T T T
Scenario
~— 0.8
2]
£
~ 0.6
>
-
© o4
A, -
[H]
> 0.2

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df=-17.25%
0.4 T T T T T T T T T T T T

=
1S

(=]

&
N

Velocity Diff (m/s)
&

1 1 | 1 1 L 1 1 1 1 1 1

s
o

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

D22



Velocity (m/s)

Velocity Diff (m/s)

Velocity (m/s)

Velocity Diff (m/s)

0.2 T T T T T T T T T T T T
Scenfario
015 - 1
0.1
0.05
0 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15M11 09/15/11 10/15/11 11/15/11 12/15/11
Date
Mean Df=-15.58%
0.05 T T T T T T T T T T T T
0
-0.05
-0.1
045 L 1 I 1 1 L 1 1 1 1 1 L
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15M11 10/15/11 11/15/11 12/15/11
Date
LFO5
0.1 T T T T T T T T T T T T
Scenario
0.08
0.06
0.04 ||
0.02
/| 1 | 1 | 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15M11 09/15/11 10/15/11 11/15/11 12/15/11
Date
Mean Df= -4.15%
0.06 T T T T T T T T T T T T
0.04 -
0.02
0
-0.02
-0.04 |
-0.06 [~
0.08 L 1 I 1 1 L 1 1 1 1 1 L
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15M11 10/15/11 11/15/11 12/15/11
Date

D23



0.1

Velocity (m/s)

e
o
=

0.03

0.02

0.01

-0.01

-0.02

-0.03

Velocity Diff (m/s)

-0.04

=
LY

Velocity (m/s)

e
=]
o

0
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/111

0.03

0.02

0.01

-0.01

-0.02

-0.03

Velocity Diff (m/s)

-0.04

Scenario

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11

Mean Df=-2.41%

Date

10/15111 11115111 1211511

L

1

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15M11

Date

ELI2

08/15/11  09/15/11

10/15/11

11/15/11 121511

Mean Df= -0.25%

Date

08/15/11  09/15/11

10/15111 11115111 1211511

L

1

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11

Date

10/15/11

11/15/11 121511

D24



Velocity (m/s)

0.6 T T T T T T T T T T T T

Scenario

0
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df=-28.20%
0.2 T T T T T T T T T T T T

—_—
(7]
£
S
£
o
>
—
(%]
=)
[<F]
>
04 L 1 I 1 1 L 1 1 1 1 1 L
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15M11 10/15/11 11/15/11 12/15/11
Date
LFBO1
0.07 T T T T T T T T T T T T
0.06 Scenario
—
‘-E IJ.DS
S
0.04 g
>
by
O 0.03
o
@ 0.02
>
0.01
0 | 1 1 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15M11 09/15/11 10/15/11 11/15/11 12/15/11
Date
Mean Df= -8.59%
0.04 T T T T T T T T T T T T
—_
0
"'E 0.02
e
£ o
(m]
2 002
Q
o
@ -0.04
>
0.06 L 1 I 1 1 L 1 1 1 1 1 L
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15M11 10/15/11 11/15/11 12/15/11
Date

D25



Baseline versus S05:

D26



e
'S

0.3

0.2

Velocity (m/s)

0.1

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df=-30.86%
03 T T T T T T T T T T T T

W 02
£
S
£
o
>
—
(%]
S
[<F]
> -0.3
04 L 1 I 1 1 L 1 1 1 1 1 L
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15M11 10/15/11 11/15/11 12/15/11
Date
LFO2
0.2 T T T T T T T T T T T T
Scenario
0.15

Velocity (m/s)

e
=}
a

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date
Mean Df=-30.34%
0.05 T T T T T T T T T T T T

w
—
E

0
=
(m]
>
s =t
© -0.05
i)
Q
>

01 1 1 | 1 1 L 1 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

D27



LFO3

-

Scenario
~— 0.8
2]
£
~ 0.6
>
-
© o4
A, -
[H]
> 0.2
0
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15M11 09/15/11 10/15/11 11/15/11 12/15/11
Date
Mean Df=-43.58%
0.4 T T T T T T T T T T T T
w
"'é 0.2
S
£
o
>
—
(%]
=)
[<F]
>
06 L 1 I 1 1 L 1 1 1 1 1 L
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15M11 10/15/11 11/15/11 12/15/11
Date
LFO4
0.2 T T T T T T T T T T T T

Scenfario

®
-
o

Velocity (m/s)

1 I 1 )

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df=-35.20%
0.05 T T T T T T T T

-0.05

Velocity Diff (m/s)

.0.15 1 1 | 1 1 L 1 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

D28



0.1

Velocity (m/s)

e
o
N

0.1

-0.05

Velocity Diff (m/s)

0.1

@
=}
=

Velocity (m/s)

0.02

0.04

0.03

0.02

0.01

-0.02

Velocity Diff (m/s)

-0.03

LFO5

Scenario

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df=-14.04%

T T T T T T T T T T T T

1 1 | 1 1 L 1 1 1 1 1 1

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Scenario

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df= -2.12%

-0.01 |

T T T T T T T T T T T T

1 1 | 1 1 L 1 1 1 1 1 1

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11

11/15/11 121511

Date

D29



ELI2

=
1Y)

Velocity (m/s)

e
=]
o

1 1 | 1 1 ] 1 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df= -6.74%
0.1 T T T T T T T T T T T T

-0.05

Velocity Diff (m/s)

01 1 1 | 1 1 L 1 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

0.6 T T T T T T T T T T T T

Scenario

e
'S

Velocity (m/s)

e
o

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df=-46.08%
T T T T T T T

e
(9

e
o

=]

&
N

Velocity Diff (m/s)
A

1 1 | 1 1 L 1 1 1 1 1 1

s
-

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

D30



Velocity Diff (m/s)

Velocity (m/s)

Scenario

e
=]
=

T

e
=}
@
1

=
=3
-~

e
o
@

bl
o
=

g
o
=

01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/15/11 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

Mean Df=-14.79%
0.06 T T T T T T T T T T T T

0.04

0.02

-0.02

.0.04 1 1 | 1 1 L 1 1 1 1 1 1
01/15/11 02/15/11 03/15/11 04/15/11 05/15/11 06/15/11 07/1511 08/15/11 09/15/11 10/15/11 11/15/11 1215111

Date

D31



S05 versus S06:
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S05 versus S07:
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